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1 /NN 38.1[/NAF 8.8| LHT 100.0| B #i T 0.39 |87 48 28.6|H 8™ 100.0
2 |FERF 34. 7| EFET Al EiGili 100.0|B7 4R 0.31 | BR#mET 2504 AT 100.0
3 [t ATEAT 28.0| & FRET 6.0| 8kl 100.0(/Ne&Th 0.29|/Negm 83 |EH™ 0.0
4 |FE%Ht 25.6 | FRfEHt 5.6| T #ahET 100.0| B BA 0.21|B &+ AR N 0.0
5 [RBA 21.5|FBH 47| M ER 100.0|E R 0.07|= 8™ 53 | EHE™ 0.0
6 |dtAEARA 17.5|/NeE™ 34|BAKN 100.0| & 0.05|& R ™ 42 |EA™ 0.0
7 EH 17.0{# A 34| ERHN 100.0|tE AT 0.04|faA&T 1.9 [BRE™ 0.0
8 |/NHET 16.9) 1l E4F 30| AEHT 100.0|#AATH 0.02|fE AT 1.1 |fResm 0.0
9 |RFET 16.6|BHEA 2.9|&ERAT 100.0| &% 0.00| E&m™ 0.0 |BER™ MNAFERRL
10 |FaIma BT 139| KRB ™ 2.7 | WAt 100.0| LHE™ 0.00| LHT 0.0 |/hggm BAFRRRL
11 |EAH 13.8| £ AT 2.7/ AET 100.0|@AH 0.00|@m&A™ 0.0 | MhFREL
12 | EBH 13.7| KET™HI 24| EH™ 95.8| R 0.00|fREHT 0.0 |B/74R™ BAFRRRL
13 |[BEHR 1365|1580 24|REH 94.7|#Re5TH 0.00|3Re5 0 0.0 | XA AFRRL
14 |BAN 134 2.3|KETMH 941|173 0.00| 3B 0.0 |frium MNARREL
15 | &+ 13.0|paIEa T 2.0|gRET 91.7| XETTH 0.00| XHETT 0.0 |¥8m™ MhFREL
16 |FEHEARK 12.6|8REA™ 1.9\t ATEHET 90.9|fR LT 0.00| gL 0.0 |ER™ MARREL
17 |2ER 12.3|#)11B7 1.9(#) 11 BT 90.9|/N/BHRT 0.00|/N/BHRT 0.0 |Fea AFRRL
18 | P& 122|8ERH 1.7[/Na+ 88.9|)Il E&F 0.00(JIl & 0.0 [E#™ MNARREL
19 [#)1IET 11| EHT 16[HR™ 83.3|FtkAt 0.00 | F%at 00 |=REHH NARRRL
20 [Wu/mET 108|224t 1.6)/Ng&m™ 79.2|EAEAN 0.00| £ A %EHT 0.0 |/NiEHT MNARREL
21 |g\EH 10.1 | BRAHET 1.6| &+ 78.6|dLEAAT 0.00 | &2 F R ET 0.0 IS MhFREL
22 | REEHR 9.4 | EgtAt 1.5|Etat 75.0|4E AFEHT 0.00|FEAF 0.0 |FgtAt MARREL
23 |ERET 8.9| FaRah AT 1.2| SR #mET 75.0| 8 FRET 0.00| & F1fT 0.0 [FEHEAK MAREEL
24 [IhNaF 8.4| LA 1.2|Ba/r R 71.4|EK BB 0.00| F#REHHET 0.0 |dtAEARF BAFRRRL
25 |[fEAT 6.7 |FAAT 1.1 T1.4|FARH 0.00|#)11BT 0.0 [ AFEET MhFREL
26 |FEARH 6.6[Ba 1R 11[F8H 70.6| EFET 0.00| & #HE1 0.0 |BFRAET MNARREL
27 | KETTH 6.4 | = #RAT 1.0 AT 69.2| FIREHET 0.00 | rg T 0.0 | FHET MhFREL
28 |5ALAt 6.2| & 0.9|¥AKTH 68.5| = HF 0.00| &+ 0.0 |[3ZRIET BAFRRRL
29 |Bu/siR™ 5.5 | AFEET 0.9| 8 FRET 58.8|#AJIIET 0.00|&ARF 0.0 |BEAK MAREEL
30 [tER™ 5.5|BAKN 0.9|mA™ 50.0| & #xHT 0.00| 2+ 0.0 | 08T BAFRRRL
31 |E#&AT 5.4| KEHT 0.9|/N/BHRT 50.0| I Eg BT 0.00| K EHT 0.0 | FREHAT PAFRRL
32 |BRAfmET 5.3|5 A4t 0.9|paEE T 50.0| EAF 0.00 | pri&EH 00 |=ELRHET BAFRRRL
33 | HET 5.1 | BRI 0.8| mri&EH 50.0[4R3PAF 0.00| 434t 0.0 |E#t MhFREL
34 | &4 4.9|/NBHET 0.6 | = A0ET 40.7| R &R 0.00| LA+t 0.0 | =%HET MNARREL
35 |8k 4.8[/N)11F 0.6|{5i2RT 14.3|FEAK 0.00| #idbAt 0.0 | ZspAT MhFREL
36 | AREHT 48|EAT™ 0.5|F A+ 0.0| X+ 0.00[/h&R+F 0.0 |tk SHT MARREL
37 |/NgE™ 4.6|FAH 0.5|=7ET 0.0|BAH 0.00|1LL/ET 0.0 |Fa&mtt MhFREL
38 | TimEAAT 45| N &R 0.5| %44t 00|24 0.00|{Z 281 0.0 [FRJIIR BAFRRRL
39 | BRI 4.1|l/RET 0.4/ 1% 0.0|Kee#t 0.00|/N 1A 0.0 |E@EH MhFREL
40 [+t 4.1 |EEAR 0.0| B3k gL ARER 0.00| A3k BT A eIy MARREL
41 [#RT 3.8|dbAEAF 00|85 ES GV ES 1o 0.00|¥&m zkeL| S RET raRRLEL
42 | @ 34| HET 0.0 T B2 b N-g 0.00|Fe xRl | R AT MARREL
43 | B HIRET 33| =HA 0.0| =™ EERUL| FRIER 0.00| Z 4 ERERLL[ SR MaFREL
44 |iRET 28| EAK 00|RE8H™ BV ES T 0.00|RE%HH EEREL|EAN MARREL
45 |BAaT™ 24|1RBA 0.0|FEEtEAK =EguL| LA 0.00|EgEAH sREREL[RPA MAREEL
46 | EH™ 1.9|FEARF 0.0[dt#aARK sERaL|EEN 0.00| e A+ sEReL| TER MARREL
47 | RFEA 1.8|K#E# 0.0| 44X R ET =EgoL| fiek 0.00| &4 T ERREL[FEARR MAREEL
48 |fREAT™ 14| REH 0.0| 3L &I ET ERRELINAA 0.00| 32 &I ET ERREL| KEER raARRLEL
49 |E#H 1.2| R+ 00|=tRHET =EgaL| 1L/ NET 0.00|= Lt RHET BHRLL|REBA MNARREL
50 | KEH 0.6| E=+ 0.0 =+t sRmweL|SRET 0.00| =+t ERREL|BAN MARREL
51 [EEH 0.1|#AH 0.0| =EFET sxERaL /NI 0.00| REF BT zgeL|2EH MARREL
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